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3. An investor took a random sample of 25 stocks in Taiwan stock market. The mean eps (Fjj#+%
fi#) is 10 dollars with standard deviation of 5 dollars <20%> |

(1) If the investor believes that the mean eps of Taiwan stock market is more than 8 dollars. Do o
test at level of significance « =.05.

{(2) Find the p-vale and make conclusion.

(3)If the investor took another random sample of 16 stocks in New York stock exchange and iis
mean eps is 13 dollars with standard deviation of 4 dollars. Assume that the data in both markets is
normally distributed and has equal population variance. Is there significant difference between ithe

eps of both market at a =.05?
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(1) A 2 3 AR TR 5 208 B ool A238 4 > MR EMAT B K (o =05)

@) A 2> EAEFR BB LHHRB AT, RELEHET BT (Ra=05).

5. The cost of a home depends on the number of bedrooms in the house. The prices (in millions: ¥}
and the number of bedrooms (X) of 10 homes are recorded. Suppose the related statistics are

i Sl 10 " Jo 10 :
calculated as follows X=4, Y=3.9, > X7 =170, > ¥’=163.5, » X,Y, =163, <20%>

i=1 i=1 i=1

(1)Find the sample correlation coefficient(K 48 B 4% #).

(2) Fit the data with a regression line. 5
(3) Find the unbiased estimator for the common variance in regression model.

(4) Test if there a significant positive relationship between X and Y.
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=0.05<10%>

B F A Zy o5 =1.96, Zp 0s=1.645, 1 055 (24) = 2.064, 1, (8) =2.306, #,;(8)=1.86,1,05(39) = 2.02,

l0.0s(2A)=1.711, 15 0s (1 1) = 1796, 1,05 (39) = 1.68, y35(4)=9.48, x35(1)=3.84. |




